4. Anammeter of resistance 0.81 ok

(a) reduction of curren

(c) power loss is cut down

‘3. An electron with angular momenty

(a)e L/ 2m

: (c) e L /4m 3

range to 10 A is;

iy

(a) 0.9 ohm
(c) 0.03 ohm

5. The relative magnetic perm:
Y is slightly more than uni
(a) X is paramagnetic an
(c) X and Y both are par:

is ferromagnetic
etic

(d) (a)and (c) both
L moving around the nucleus has a magnetie moment given
(1)
(b) e L/3m
(d)eL/m

reads up to 1 A. The value of the required shumt to increase the

(1)

| (b) 0.09 chm

(d) 0.3 ohm

ility of a substance X is slightly less than unity a

| that of substance
hen:

(1)
IS ferromagnetic
(d) X'is diamagnetic andW is paramagnetic

(b) X is diamagnetic ang




(b) r*
(d)r
atements are given—one labelled _"t‘iértion (A) and other labelled
ct answer to these questions from the options as given below.
on are true and Reason is correct e anation of Assertion.
son are true but Reason is not the correct explanation of Assertion.
eason is false.
on are false.

of force never cross each other.

@ point superimpose to give one resuf t electric field
thin a conductor, the electric field i is %ero

1ductor reside only at its surface.

ic materials can exhijbit magnetism,
materials hay

€ Permanent magnetic ¢




(3)

rcle CRD.
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al inductance and write its ST unit,

loops, one of small radius r and other

OR

~ Deduce the expression for the
(i) equivalent emf of the combination
*quivalent internal resistance of the combination.

~ for Q-factor of the circuit.
OR

tep up transformer at the plant.
Two-point

e a. Obtain the expression for (i) the magnitude
€ vertex A due to these two charges.

~ the expression for magnetic di

~ magneton?

SECTION-D

through a coj]

- 29. Self-Induction. When a current | flows
- constant known as self-inductance of 1y

e coil.

T Ils of emfs €1 and €2 and internal resistances r ,and r, respectively

do you understand by sharpness of resonance in a series LCR

The town gets power from the line through a 4000-220 v
7 in the town. (a) Estimate the line power loss in the form of
the plant supply, assuming there 'i"sinegjli’gffiblé power loss due to |

charges + q and -2q are placed at the vertic.

of larger radius R. such that R >> r, are placed

/ with centres coinciding. Obtain the mutual inductance of the arrangement. (3)

straight pafa‘llei current carrying conductors are kept *d” distant apart in air. The direction
nt in both the conductors is same. Find the magnitude of force per unit length and direction
' ‘between them. Hence define one ampere.

, (3)
are connected in parallel.
(3)
circuit? Derive an expression
(3)

electric power at 220 V js situated 15 km away from
ectric plam generating power at 440 V. The resistance of the tw.

v ovﬁre{ﬁw‘canyiug power is
step-down transformer at a
heat. (b) How much power “
cakage? (c) Characterise the
(3)
I triangle ABC
sultant electric

es B and C of an equilatera
and (ii) the direetion of the re

- ' :
pole moment of 5 revolving

clccr;'«m_ What is Boh

. flux linked with ;i IS¢ =[] wha

r’_‘l"-\ A A
0000 —0o
1l a




(i) Which one o
(a) 5.8 x 10" C -
()4.5x 102 € (d) 8.6 x 3

(iii) If a charge om a body is 1 nC, then how many electrons are pre
(a) 6.25 x 1027 (b) 1.6 x 10"
(c) 6.25 X 10%® (d)6.25X 10

(iv) If a body gives out 10° electrons every second, how much time is required to get a total charge
N

(b) 150.12 years
(d) 188.21£:s
OR r
A pulythen@picce rubbed with wool is found to have a negatiy

miarviber BB trone traneliaeresd

2 charge 3.2 x 10 ¢ Caloutate the




lates of a parallel plate capacitor with plate
pacitance of the capacitor.
of V. On disconnecting with the battery, it
ity C, as shown in the adjoining figure. Find
of switch S . ! 5 3

U
\

working of a moving coil galvanometer. What

of (i) uniform radial magnetic 1i) soft iron core?

terms (i) current sensitivity and

Crease voltage sensitivity? (5)

€ source. Using the phasor diagram, derive #

t with frequency of the ac source, explaining

ances R, and R, (R < R,) at resonance. (3

bk sk




